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This Question Paper consists of 32 questions and 8 printed pages.
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General Instructions : EiiE
1 Candidate must write his/her Roll Number on the first page of the Question Paper. ﬁ%
2 Please check the Question Paper to verify that the total pages and total number of questions contained in

the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 55/ASS/3, Set—. on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility

for any errors/mistakes in understanding the question will be yours only.
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st fédr, 9¢, e, e, afte, Aede, ®S, d, 96, SfedT, ST, didkel, ARTg,
ST, AT, HIW, eepd o R |
FUAT SAX-YRaeT § iy U i ¥ o 6 oy fpw o ¥ s @ w ®
(@ afs oy R ud oy & orfafiad fpe oy wior & IoX foed & @ wed @ wHeH H g Qe
Ffeat | Tafaat o Rrerl FHaa st 2Rl

SS/ASS/3-318-A ] 1 [AWARRAAARMNN MW 1 Contd...

[\S

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
ECONOMICS
FITEH
(318)
Time : 3 Hours] [Maximum Marks : 100
g ¢ 3 Fue] [quife : 100
Note : (i)  All questions are compulsory.

(i)
(iii)

fdar ¢ ()
(ii)
(iii)

Marks allotted to each question are indicated against it.

Each question from Question Nos. 1 to 10 has four alternatives (A), (B), (C)
and (D), out of which one is most appropriate. Select the correct answer
among the four alternatives and write it in your Answer-Book against the
number of the question. No extra time is allotted for attempting multiple choice
questions.

Al g9 & IAX AT |

Y% U & WA Igh o f@ T ¥ |

YT W& 1§ 10 9% & UdF 9T ¥ 9 [a&ded — (A), (B), (C) qu1 (D)
e 9 e suge | Ol faedl § ® @@ IO g qem etue
ST-gRAeT § UeT "@e % MY X fa@ | Sg-faeedl el % fag
sifafe v <&l feam <o |

1 What type of correlation is expected between heights and weights of students ? 1

(A) Positive (B) Negative
(C) Infinite (D) None
fenfial & @ ofX aoW # fhw yeR & wEEEY ® oUem Bl © 7
(A) g9 TdHS (B) FoTH®
(C) od (D) FHar T
2 Positive economics deals with the economic phenomenon : 1
(A) What is (B) What ought to be
(C) Individual behaviour (D) Economy's behaviour
Irdtas A 3@ oMU qed W wetyd ¥
(A) w ¥ (B) w1 BT WIRT .
(C) =fRra onfds =Faer (D) SrefareRe & TR S
3 Ordinal utility analysis was developed by : 1
(A) Marshall (B) Hicks
(C) Robbins (D) Samuelson
FAgTs ST fasawer s faefea fean -
(A) wsf| (B) fead )
(C) fe= (D) &=gwar e
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x and y are complementary goods. When price of x rises, demand for y : 1
(A) Rises (B) Falls
(C) Remains unchanged (D) Is uncertain
xRy A & IGY § | 99 x B HAA Fedl @, Al y B AN
(A) wedr ¥ (B) =l ¥
(C) =& Tl & (D) e e 2
As output increases, average variable cost : 1
(A) Increases (B) Decreases
(C) Remains unchanged (D) Initially falls, then rises
S§ SAEA §edl &, 4 of|d gREdl @
(A) ol ¥ (B) == ¥
(C) fex war % D) g& ¥ fird &, fr sodl &
Different forms of markets are distinguished on the basis of : 1
(A) Number of firms (B) Ease of entry and exit of firms
(C) Product differentiation (D) All the above
TOR % I g § 9% 39 oUW feEr oar §
(A) ®HI @B G (B) wHl & YA R FAEEA B GEHA
(C) wam fyde (D) s adl e
To arrive at "domestic product at market price" from "domestic product at 1

factor cost", the following adjustment is made :

(A) Add subsidies to and subtract indirect taxes from domestic product at factor cost.
(B) Add indirect taxes to and subtract subsidies from domestic product at factor cost.
(C) Add both subsidies and indirect taxes to domestic product at factor cost

(D) Subtract both subsidies and indirect taxes from domestic product at factor cost
“QE ARG WA SR ¥ ORI HMd WX A SdRT WK B '8g 9
foran wmar ¥ ¢

(A) WA @G WX A S ¥ onfie wEmar wied § o emdd wR Werd ¥ |
(B) WEF N WX TG SAE N UTH BT Wied § ofR onfde Hewdr " ¥ |
(C) HEF AN WX O 3R H oNfs §eEdar X oWds &Y Ml Sisd § |
(D) ¥EF @A WX O SWE § S WEEdl oiX Sidd &Y IHl ged ¢ |

Transportation of products is a part of : 1
(A) Primary sector (B) Secondary sector
(C) Tertiary sector (D) Government sector
SR B UH WM ¥ A WM W A AT fRE &F % o omar § 7
(A) Wl &= B) fuims &
©) Tous &= (D) W@ &7 Zm
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9 The sum of marginal propensity to consume and marginal propensity 1
to save is :
(A) Zero (B) One

(C) Less than one but greater than zero (D) Greater than one
dHa YA yga o dmia S9d Ugha @1 A a8 5

(A) I B)

(C) T% ¥ &9 Wb LI | s (D)@ﬁﬁﬁh’cﬁ%ﬁ

10 Borrowings by government is : 1
(A) Revenue receipt
(B) Capital receipt
(C) Neither capital receipt nor revenue receipt
(D) Capital receipt if borrowings are from abroad, all other borrowing are revenue
receipts.

11  Distinguish between median and mode. 3

e 8 9gasd H WS BT |

12 Explain the concept of microeconomics. Give an example. ) 3

R arfomel &I STIUTON THSARY | Th IO QNI | %&E’

13  State any three assumptions on the basis of which production possibilities 3
are determined.

BE 9 AAU gqEU e SR T IAET G9EAY fahfaa @ Sl O

14 Explain "interdependence between the firms" feature of oligopoly. 3

AR B “HAE § IR@Re saquar’ fagwar gasmu |

15 Explain the meaning of excess supply and its effect on price. 3

3Mgfd oy @1 o1 SR 3HaT &iFd WX YWE THEEU |

16 Explain the meaning of mixed income of self-employed. 3

@il @ iy o & ord gusmsT |
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17  Calculate marginal propensity to consume from the following : 3
(i) Increase in national income = Rs. 1,000 crore.
(1)) Increase in investment = Rs. 100 crore

frafafea @ dmid Su9m ygfa &1 afeed Sy
() @ em@ ¥ ghg = 1,000 FE %
(i) FRw ¥ gfg = 100 &= & B

18 Define average propensity to consume and average propensity to save. 3
State the relation between the two.

fEd SUHrT Tgia &R offed sad ygia @l aiewrsn AT | 391 & o9 69y
FaRY |

19 What is autonomous investment ? Represent the same on a diagram. 3
e (@) fag & @& ot § 7 39 @ W REne |
For the Blind Candidates in lieu of Q. No. 19.
Haw g Tl ® fou e "@Em 19 F wWE W\
Explain the concept of autonomous investment.

e (wmm) fagr @ ergaen 9sEy |

20 Calculate revenue deficit from the following : 3
(Rs. crore)
(1)  TaX IevVenuUE.......ccccceeevveeeveeeereeeireeereeene 200
(1)  Non-taX TreVeNUE.........cceeevvveerveeerereeerreeennnes 300
(ii1)) Recovery of loans ........ccccevvveevieeeneeennne. 100
(iv) Revenue expenditure ...........cccoceveevveenennne. 600
fr=fafaa @ o =@ @1 afeed By
(FE 7.)
(1) BT TS i eaiie e 200
(i) BT T covvivieeeeeeeeeeeeeeee e, 300
(i) FOH B TR oo, 100
(V) T B oo, 600 e
21 Explain the difference between 'absence of correlation' and 'perfect correlation'. 4

TeEeY @ ofURAfy SR YU deEew H Ay §Hesy |

22 When price of a good falls by 20 percent, its supply falls by 40 percent. 4
Calculate price elasticity of supply.

9 UH a%g B dEd 20 yiaed ARl @ oar IEe omgfa 40 wiasa @w
EUI e (e i s B o e R KT G L L
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23  State the relation between marginal physical product and average physical 4
product.

g difae I dur ofed Hifds S & S 999 9qsg |

24  Calculate personal income from the following : 4
(Rs. crore)
(1) Savings of private COrporate SECLOT........ccovviervrveerireeerireeerveeennreenns 20
(i1)) Net domestic product at factor cost accruing to
the Private SECLOT .....cc.eeviieriieiieeie ettt ettt ettt 700
(111)  COTPOTATION TAX veeuvieereeiieriieeiiienieettesreesieestteeteesereeseessaeeseessnesseens 60
(iv) National debt INterest ........cccceevvieriiieiieriiiiiienieeieeeee e 100
(v) Net current transfers from abroad ..........ccccooceviiiiiiniiinnieniienien, 10
(vi) Net factor income from abroad ..........cccccoeciiiieniiiniieniiieieenen. (-) 10
(vii) Current transfer from government .............cccceevveeevieerivieeniveeenneenns 30 %&?
frafafea @ Jafes o &1 uieas BN -
@R %)
() ool SR 8 B =T 20
(i) =t & @ " ard W) aa e SR |
TTRT BT ettt ettt ettt e et e ettt e e et e e e et e eatteeaaaeeareneeasnneeenes 700
(i) TTTH BB oo 60
(V) TSI T TT FTT oo 100
(v) ToRel & FE@ T SWIAT oo, 10
(vi) Tacell & TE@ T ST o, (-) 10
(Vi) TXBR H A FEITTIT cororierinrirerereeterereseeneseseseseseseseseseseenes 30
25  With the help of example explain how the "lack of common unit of 4

measurement” was a demerit of the barter system.

AR H Ferddr § guAmEy {6 € ag-fabrm gomen & A @
TR T B AN SEE Uh g O | o

26 Explain "open market operations" as an instrument of credit control. 4

g FEEe % IUE % w4 W OgW IR Sl Rad sy |

27 Calculate Quartile Deviation of marks obtained by seven students : 6
30, 100, 70, 40, 60, 50, 80
30, 100, 70, 40, 60, 50, 80
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28 Calculate price index of the year 2013. Take year 2012 as base. 6
Use "Simple Average of Price Relatives" method. Comment upon the result :
Commodity Prices in the Prices in the
year 2012 (Rs.) year 2013 (Rs.)
E 5 7
F 7 7
G 8 10
H 4 5

qY 2013 B T GADD DB TbAT DY | a4 2012 B SHER AT |
“HRe ofEd ged ergura’’ fafy sy | i 9R fewh s

EL| g 2012 F g 2013 =
M (8.) FHd (8.)

E 5 7

F 7 7

G 8 10
[EIEHLE

H 4 5 im%.

29 Explain how the following affect the price elasticity of demand of a goods ? 6

(i) Share of expenditure on goods in total expenditure

(ii)) Level of income

TR fop FrAfaiaa &1 a%g &l AT & A A B wd JIIad B © 7
(i) Pa =@ ¥ I8 T AT B 3AT

(i) oma @& WX

30 A consumer consumes only two goods x and y. State the conditions of consumer's 6
equilibrium using utility analysis. Explain what happens when consumer is not
in equilibrium.
% IUHIGRT Had & GRS x SN y B ISYART HIAT & | SYARTCT fagersr
BRI SUNIRT Tg@d @ S Sy | SEEey f6 A SuWied d@qed ¥ A
I 2| | e

31 Explain the distinction between private costs and social cost. Give examples. 6

el @rmal ofR g @TTdl & S 98 @ ST HINT | IEETT ST |
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32 Calculate Net National Product at Factor Cost from the following :
(Rs. Crore)
(i) Private final consumption expenditure ............ccccevevevvverveeueennen. 900
(1) PIOFIt oo e 60
(iii)) Net factor income from abroad..........cccccoevvieeiiiiniieeniieeennen, (-) 10
(iv) Government final consumption expenditure .............cccceeeveeenneen. 200
(v)  Consumption of fixed capital .......ccccceeveiiieiiiiiiiiieiieecieeeee e, 20
(vi) Gross domestic capital formation .........cccceeceeeeeieeriieeniieeenieeenen. 100
(VI1) SUDSIAIES ...evieeiiieeiieeiieeeee ettt e et e e e e e e seveeearee e 5
(VII1) EXPOTES 1oeuviiiiieeiiieieeeieeiteeite ettt e et eeeeeeaeeeeaeesbeesaaeensaessaeesseasssesnsaens 25
(1X)  INAITECE TAX cuvieerrieiieeieeiieeie ettt et e et e ete e e e e reesaaeebeestaeesseessaeensaens 70
(X)) TMPOTLS weeeiiiiiiiee ettt ettt e aee e be e e eenabeesnaeeens 30 Eﬂ&?
frfafed @ @rem @ W fed U Sae & g By
@3 %)
() Tl Sifm SUMT S .o, 900
(1) BT ettt ettt ettt e e et et et et et et et e et e ateaaeanesneaneaneaareareaneaneanns 60
(i) TaQem & O TTUT ST oo (-) 10
(iv) GBI STH STITT BT oo 200
(V) ST ST BT TTHIT oottt 20
(vi) FHA T GO TN i 100
(Vi) STIIB FEIAT ..oeieeieeeeee e 5
(VAED) T e, 25
(1X)  BTTTAET BT ooeiniiiniineiin ettt eii ettt etetieerteeterteateeane et eaneerneannenns 70
(X) BT ettt ettt et ettt et et e et et e et e e eaneaaneans 30 %%E
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